4. Explain the law of variable proportions.
IRl STuTdl & a9 i = Hifsu |

5. Explain the relationship between Marginal cost and
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6. What are the characteristics of a perfectl . .
. . P Y (Micro-Economic Theory)
competitive market ? Explain.
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7. Explain the Law of Demand. Paper : EC-01

i % | w1 e Fifvu) Time : 1% Hours | [ Maximum Marks : 70
8. What d(? you thean by ‘Excess Capacity’ in Note — The question paper is divided into two Sections

Monopolistic Competition ? A and B. Write answers as per the given

TehIfeRIcTs gfaaitmar § ‘stfafed emar’ | o9 =0 instructions.

BN e - T weA-w et o ‘T @ wvEl | fawfsa §1 T
9. What do you mean by consumer equilibrium ? Tue % RITER 79 & W i)

Explain with the help of diagrams. Section—A 4x3%=14
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(Very Short Answer Type Questions)
T AT HIfST |

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 3%z marks.
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1. Attempt any four questions :

Al a) v & S g

(i) Define Economics.
ST Sl GRS HIfST |

(i) What do you mean by Opportunity Cost ?
HTHR A Y AW T G & ?

(ii1) What is Marginal Utility ?
e ST = T ?

(iv) Define Price line (Budget line).
FHFd 1@ (SIS 3@) Tl IR i |

(v) What is meant by the slope of demand curve
for Giffen goods ?
ffe axqslt & =F1 o & @@ 9w iU
g2

(vi) What is meant by returns to a factor ?

TH WA & gfaka | g iy ¥ 2
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(vii) Why is Total fixed cost curve parallel to
X-axis ?
FA TR aFa g% X-A" & FH=R F e
T2

(viii) Normal profit is a part of total cost. Is it true ?
Explain.
M= oY, A AN H TH GE T O A
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(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 14 marks.
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. Explain the marginal rate of substitution.

Jiaeeq &1 HH S B STRAT HifS |

. What do you understand by price elasticity of

demand ? How is it measured ?
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